Change of State Problems

Example 1

Calculate the amount of heat required to melt 100 g of ice to 10(C.

STEP #1

Calculate the heat needed to melt the ice.

EH = m . lf 

     = 100 g x 320 J/g

     = 32 000 J

     = 3.2 x 104 J

STEP #2

Calculate the heat needed to raise the temperature of the water from 0(C to 10(C.

EH = m.c.(T

      = 100 g x 4.18 
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 x 10(C

      = 4180 J

Total amount  = heat to melt   +  heat to change the

of heat               the ice               temp. from 0 to 10(C

    = 32 000 J         +        4180 J

    = 36 180 J

(The total amount of heat required is 36 180 J
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